TWSA

1. OSSR — AR A
2. THEHMEEERZIRG], REEMBITARRIRETHRE R BrAimatikEz e, s T4,

AR —3KAIRERAL ;

3. TRERITAIEREMIERERS, AIRERMCERZRITR T ETHEE;
4. NIRRT BEMKZWMBA, KR, WEZRMBA.

BESRTIE

VAC - 32 - 100
arE 712

20  20mm

25  25mm

32  32mm

40  40mm
12 7% (mm)
VAC-20 10 20 30

VAC-25 3040 50 100 150

N

- ZP30CS

USE=s

I%# (mm)

ZP10BS,ZP13BS,ZP16BS,ZP10CS,ZP13CS,ZP16CS
ZP20BS,ZP25BS,ZP32BS,ZP20CS,ZP25CS,ZP32CS
VAC-32 5080 100 120 150 200 ZP20BS,ZP25BS,ZP32BS,ZP20CS,ZP25CS,ZP32CS
VAC-40 50 100 120 150 200 250

ZP40BS,ZP50BS,ZP40CS,ZP50CS

R

2|8 = g 8
F E A*+HTIZ
kS A B C D E F G H M
20 26.5 13 25 25.2 10 10 10 M5*0.8 M16*1.5
25 30 14 30 35 10 10 16 M14*1  M22*1.5
32 45 16 37 40 16 10 16 M14*1 M25*1.5
40 56 22 45 50 18 25 20 M16*1  M32*2
#&iE: VAC32RVACAOKITIRARY
s A s A
VAC32-150 56 VAC40-150 70
VAC32-200 56 VAC40-200 70
VAC40-250 75

N
8.5
7
8
11

M5%0.8
PT1/8
PT1/8
PT1/4

o o o0 N

10




BN

VAC20-ZPRINEZREF T

21

VAD16-ZP10BS VAD16-ZP13BS

M5*0.8 M5*0.8
TR R I
™~ o~
nl nl ~
i
| 1
i T

1R 915

VAD16-ZP10CS VAD16-ZP13CS

VAC25 -ZP | VAC32-ZPR I BT R EZH T

M14*1 M14*1
ilj
[aY
@

022 (244
VAC25-ZP25BS

42,5

31.5

VAC25-ZP20BS
M14*1 M14*1

1

) ™

@ ™
[ [
N ]

$23 $28
VACR5-7P20CS VACR5-7P25CS

VAC40-ZPRINEZIREF

Mi6*1

M16*1

L

£

53
42
53

|

|

I
243

VACA0-7P40BS

VAC40-ZP50BS

VAD16-ZP16CS

M14*1

=

37
48

$34
VAC25-ZP32BS
M14*1

=

33.5

22.5

#35
VACR5-7P32CS

Mi16*1

L]

=

275

38.5

Mi6*1

L]

=

26.5
37.5

VACA0—ZP50CS

953 953 M

VACA0-ZP40CS




